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e — 1. UT HHIB 1 IRIMSS U B $EH WUS A U wWug ¥ g Ul WU
(@) H 5 U & 7T WUS (§) § 5 U B | WD YA WX 1 3(F refed 2
Instruction:- Question No. 1 is an objective type question It has part (A) and part (B). Part (A)

carries 5 Questions and Part (B) carries 5 question mark in allotted to each question.

2. Yo G 2 ¥ 6 OFb IR UeH 2| UAH U W 2 IAF
JmEfed 21 IR BT ARIHaH T 30 R 2|

Question No. 2 to 6 are very short answer type question carries 2 marks. Maximum

limit of answer is 30 words.

3. U HHIG 7 ¥ 11 06 AT Ued 2| UAE U WR 3 AF
JmEfed 21 IR BT ARIHaH AT 50 TR B |

Question No. 7 to 11 are very short answer type question carries 3 marks. Maximum

limit of answer is 50 words.

4. UE HHIB 12 | 18 TP THSTRI U 2| YD UL H I’ fdweu
2| TP U W 4 3fF AT 7| IR BT IMfABaH HWI 100 ek 7 |

Question No. 12 to 18 are short answer type question. Each question has on internal

choice. Fach question carries 4 marks. Maximum limit of answer is 100 words.

5. Y¥ HYH 19 ¥ 23 db <ESNg U 2| ISP wed H anaRe faeey
2| Udd YT WR 5 3P IEled 2 | SN BT Aeay IH1 150 IS 7 |

Question No. 19 to 23 are Long answer type question. Each question has on internal

choice. Fach question carries 5 marks. Maximum limit of answer is 150 words.

6. U HYH 24 ¥ 25 b <ESNG U 2| UAP U H anaRs faeey
2| Udd YT W 6 3P IEled 2 | SN BT AfTeay TH1 200 IS 7 |

Question No. 18 to 23 are Long answer type question. Each question has on internal

choice. Fach question carries 6 marks. Maximum limit of answer is 200 words.
UeT AT 1 — Gus () T fAmey g ferfay —
(Part —A) Choose and write the correct option.
() o™ & 8 H S=a AT H 8T 8§ — 1X5=5
(31) TEge (@) BIHRA
() fafera () drerer




(1) Rice husk contains high amount of -

(a) Nitrogen (b) Phosphorus
() silica (d) Potash
(i) 1T faew &1 SUENT BT & —
@) SR # (@) fogwfT 4
(7) IRfRT # () frert o
(ii) Uses of conoweeder -
(a) In SRI (b) In biasi

(¢) In Roguing (d) In trainage
(iii) T=TT wfoman R gener § &= /3T @l g fhar S @ —
SHRESIH (@) ®etg
(%) g () 379 9 Bl T
(iii) Is the Process of separating the grain from the straw :-

(a) Threshing (b) Harvesting

(c) Winnowing (%) None of these
(iv) oS & el g —

(31) ERUTIR 9T BT g™ (@) goTdd ®I BT

(@) fo71 R T B e (T) SuRiad i
(iv) Winnowing is related to -
(a) Removing weed seed (b) Removing of straw

(¢) Removing of unfilled grain (d) All of these
(v) STl PIeATEe & AW &I 8 8 —

(@) RRed (@) St

(F) 9 o1 7 feaswd () SRIET 4T
(v) Common symptoms of pesticide poisoning are -
(a) Headache (b) Vomiting

(¢) Difficulty in respiration (d) All of these
wug (€) — Rad wEl &1 gfid sifvm — 1X5=5
(Part—B)  Fill in the Blanks:
@) o D IUINT SEIelT Tl | i & FRefl Ud eard-el| @
ford foar <imer 21
() e, is used to protect eyes and respiratory tract from tosic gases.

(ii) ERUTARI B I, eI, U Gy, E /S ¥ fafaa



BT 8
(11) Weeds seed, plant residues, stables inoculums ............... 1s controllet.

(iii) ToFOTOTHOIRO BT GUT BUY B o
(111) PPVFR write the full formis ........................

(iv) IR ¥168 BT SURT oo HES B
(1v) The word market is terived from the ................. word.
(v) FER @ O ASaqul 9RT 1. 2. I T g
(v) Communication has three important parts 1........... 2 and 3.............
U HHIE 2 — JaTlel 9T 87 2
What is Straw.
Ued HHIDG 3 — H1F HU8U [ FHEd 87 2
What is paddy Storage.
U HHIG 4 — DA B BEd 7 2
What 1s Insecticide.
U AT 5 — dNIR B GRATNE BIeg? 2
Define of Market.
U3 HHIH 6 — HdR ol 87 2
What is communication.
Ue ShHID 7 — G & G3ITel BT Iqrafeh o7 ferReg? 3
Write the chemical properties of rice straw.
U HHIG 8 — U9 H ATHEEA § T FH o7 3
What do you mean by intercultural operation in paddy.
Ued HHIG 9 — Helg U4 (Aol ol 87 3
What is harvesting and threshing.
3 HHIG 10 — WIS Ug fgdla® 9ok & 97 o) 87 (Bl o) 3
What are difference between primary and secondary market. (any three)
U A 11 — AIRGS HaR 9 Y 7 §ASK 27 3
What do you understand by verbal communication.
UeT HHIG 12— 919 & YTl U @ Y Bl awssa? 4
Writes understand in methods of Rice straw managements.
4T / OR

OF B G Bl TG H D IuINT fHar 1 daar 87

How Rice straw uses as manure.



U3 hHIG 13 — (9T 71 87 59 dig o o ferlReau? 4
What is Biasi. Write the any three advantages.
AT

THodRoATE0 O & war 9o 2° sue T oy forRae?
What do you mean by SRI methods Write the two advantages.

Ue shHID 14— Hegeiel QT iR Asfdmd dfT o giRarfta Hifsg? 4
Define the Manual reaping and mechanical threshing.

AT
Bgarel BN Ud 48T (3TE) @l ariReTii Hifsrg?
Writes the define of manual harvesting and winnowing.
U HHIF 15 — DD & G I & Y a1 27 (@8 @R) 4
What is methods of safe use of pesticides. (any four)
AT

H TR & FIiTbRD FTEl Bl folfey? (@ig =R)
Writes the harmful effects of agro chemicals. (any four)

U hHIB 16 — FIHl Berg vd fAeg & WM fea—fea araenfoal & sgamEr
EIEY 242=4

What is safety precautions furring harvesting and threshing machinery.

eI
el DI FelTd 7Y fa—fd1 GRIEIT IuTgl &l =T A1fey?
What is the protective measures furring operating machinery.

U pHIB 17 — il 9919 $ [ doe! o |t 7 guig sifeme? 4

Briefly explain different water saving techniques.
eI
DT FATGHR Hal § fdbel TH-11b! DI AN] BT ANZY, oI H
U HISTT?
Briefly explain technologies applied in agro advisory services.
ue HI® 18— foiftad deR wd forg WuR @ I e HAied o faRee? 5

Write the difference with example between written communication and sign

communication.

arerar
Aihfae FaR vd =g §arR & 7 3de pifve?




What is difference between symbolic communication and pictorial

communication.
U HHIG 19— O9 D YIS B Tl | JF—agT1 gI=adf gt 87 Pl ura giaar
oAfaq? 1+ 1+ 1+1+1=5

What are the disadvantages of burning of rice straw? Write any five

disadvantages?

rerar

UM & QR Dl STl § dgAvSe H B 41 A gred I
o) 27 ®is Ut I @ 9 foarfeg?

What 1s the greenhouse gasses released in atmosphere furring buming of rice

straw? Write the name of any 5 gasses.

U3 HHIG 20 — A © 91 R IR 5
(a1) Sfeemar faRfT sy R ureR feer fsShT

Differentiate between the Traditional Biasi Operation and power tiller weeding.

arera
Hftred | fewoft fore —
(o) gt (@) g faSt

Write the Short notes on —
(a) Bushning (b) Hand weeding

TS HHID 21 — BlANGeR, e IR ok < g1 | 9 w1 FHA 87 2+2+1=5
What do you understand of conoweeder, Rotary weeder and deshi plough.
AT

TR e, oo ifvee sHRRTE B R urR anes fasw
T M T FHT 27

What do you understand of square planting till panical nitiation stage and

power operated weeder.
U BHHIB 22 — 99 @ Fifye Bes W te dferg fegeft fafau? 5
Write a brief note on mechanical threshing in rice.

arerar
TIY ¥ s Ud [BASE &A1 9w s 27 oo, |irig quie &-?

Is timely harvesting and threshing is compulsory? why, explain briefly?



U HHID 23 — e @ aRefie SIg — 5
(1) ¥Te aferiir (@) e ufeT
Define as following —

(a) Seed cleaning (b) Sced grading
HAdT

HrITg- BARCT 3R A del BEANST | 3T 4T WHSK 27
What do you understand by combine harvesting, mechanical harvesting?
U HHID 24 — AHGHINGT B BHed 87 aiierNG daR B3 &1 fafr &1 qui
PIfSTY? 2+4=6

What 1s vermicomposting? Write of describe the methods for preparation of

vermicomposting.

3Fera
garTel & o7 o/N argurd w1 27 Yael ¥ ST g9 IT AR BeA
BT fafy o1 avie HIAY?

What is C/N Ratio of Rice straw? describe the methods for preparation of

compost.

U39 HHIB 25 — Bels Ud FAos & SR 89 9Tl 191/ 31 &1 819 &I g9
BITY? 6

Describe the grain losses furring harvesting and threshing?

arerar
TS & YRl Bl THSST?

Explain the types of storage?

S,
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fEe — 1. U PHIG 1 IR YT g T WUS W U4 wWug g g T WUs
(@) 9 5 U g I WU (@) H 5 U 8 | YD U W 1 3 Arefed 2|
2. Y G 2 ¥ 6 T%b ISR UeH 2| TP U W 2 IAF
e 2| SR BT 3AfRrpad WM 30 W 2 |
3. U HHIG 7 ¥ 11 05 AT ged | UAE U W 3 A
rafed 2| IR BT 3rfehan M 50 Uk E |
4. U HHIG 12 W 18 TP AYSTRIY YT 2 | UUDH U H AaRS fdded
2| TP U W 4 3 IMafed & | IR BT ARHad W 100 € 2 |
5 U HHID 19 ¥ 23 Th SR U 7| TP Y H# AaRe [dmed
2| UAP YT W 5 3 IMafed & | IR BT ARTHad T 150 @ 2 |
6. UeH HHID 24 § 25 Tb SESTRI U 7| YD U H# AR vy
2| AP U W 6 AP A& 2| IR BT ABaH FHT 200 TR B |
U ARG 1 — WS (3) FE! fdwey e feray —

() & @ qET § Ied AE | U o 8 - 1X5=5
(31) Eg e (@) BRBHRA

() faferer () SRIERT T

(i) 1T faew &1 SUERT BT & —

(@) SRIL H (@) oo o

(=) SutT (@) 378 ¥ 3Iig )

(i) &9 BT peTg foa iR F fear o g —

(ar) Efrar (@) HaTe

(W) & o 9 <= (=) @18 et

(iv) emafRuaa &A1 MR gU 3R g uardl & M | §SHT FHEA & —
(31) Feli+T (@) dffmr

(%) RfoT (@) 9T



(v) uRcuEs SR B8 3T 9 o 8ld § —

(a7) amAfST (@) g
(F) o/ () SRIET 4T
Trg (9) — Raa 't &) gfd Hifg — 1X5=5
6) 9 A o T ) fearsd 2|
(i) BT WHABH SATE H =T fear ST B
(iii) PP.V.FR &7 90T ST 8 |
(iv) IOTR I8 ¥ forar am 21
(v) forem T ua alet™ T o AR 7|
U HHIF 2 — YaITd e FEd 87 2
Ue SHHIH 3 — G B AU B &l oM forfdg? 2
U HHIP 4 — HY IH-AI B TN F B arel & guwE ferfe? 2
e HHIG 5 — VIR & A€ P BHig &l AW farfag? 2
U HHIG 6 — dR o 99T FFSI 87 2
Ue SHHIE 7 — TR & JuiihRol Bl ARG BIeTg? 2
U HHIG 8 — 7Cs W 3T T HHAS 27 3
U HHIG 9 — o9 © YaTTel B IUANT F—IT & FHl 87 3
U HHIP 10 — gAIs Ud uTs H IUANT BH aret IFT b AW forfg? 3
U3 HHIG 11— s 99T 87 39D & o forlRag? 3
Ue HHID 12— DYl WIe g9 & oy DI —DIF T Aaegeds Al &
ATILGHA B 87° 3
ayerar
gl HHT H JUINT B dlel &1 Hgal &I A TUT 394D ddR
Fed 37 oy faRag?
U HHIF 13— Hsrd 19 wfamed dfe # @ 77 3
arerat

P! fI8R HT SRI H IUIRT BT guiF Hiferg?
e HA®G 14 — B3 U9 UHE @ IR g dTel S 3T &1 &1 | 319
T 87 4
areran
g @ ofRmifa o) 59 IR M SF—sF 9 8 ¥hd 87




U3 HHID 15

U3 HHID 16

U3 hHIh 17 -

U3 hHIh 18 -

U3 HHID 19

U3 hHIh 20 -

U3 hHIh 21 -

URewTES BT 89 WRET SUET B IR Ahd 87 4
arerar

IRcdgs @ [ReT Ud U B fod RS @ B AW @

Sy fefea?

wferay fewoft fofeg — 4

(a1) AP IS > B (@) gafTer /& Afe=T
arerar

aut STt E=eTvr D fHAT S FhaT 87

BN HAGDBR WG H HIF AT Tbei1bT DI SuAN a1 S Fehar

g7 4
areran
framt @ freR vd e | 3y w7 J9e 87
wferar fewoft fafg? 4
(@) BRe® TR (@) R Bfee FER
areran
f o afaR forRRag?

(@1) forflera ¥oIR U9 Aiofiids o
U B GaTTel Bl Sl | B drel! B! 3l ugiaRy $1 §fe |

FHETST | 5
3rerar

PITETS I &1 8 919 GafTel el & SR ararare H e

ael AL B AW B G GIR BIIY?

3IRTEG W U 9T AHAL & I P) gaIs H 3HP] 94T ASd B°

5
3rerar
fogef & g9 91l o™ B1fY &1 adrse?

7 » I # forfem 5
(ar) gfer (@) DSR
arerar
=1 d ofae farfau?
(@) 2fseer IR affReE ek uraw feom afsT
(@) <4 8T Ug BT



U3 HHID 22

U3 HHID 23

U3 hHIh 24 -

U3 HHID 25

haTg BTavCY & gN | MY T S 27 5
arerar

Sl B g, I T vd i gear & gR H 3MuSl @l

e 27

AT T BT ARG o ameN w1E < faRkae? 5
ST
o TR @ @ Td B B AR F farRan?
g fewoft ferfem — 6
(81) gRiTet 7 TATI TS (&) 93T BT O/N IgUTT
() srEreA fave
arerar

HIBHA BT Wl § garel Bl IuFN e fafr | fhar o1 dadn
g7
YR WeRvl oF @l fegl IR fa=gar # quia HRIg? 6
3Fera
1 ® IR # < IR <9 —
(31) ofaweT= # SUIHT g dTel 93 @AM
(@) #gare ARk
() AfFma o
() e
—— 00—



